© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

45012203 HANSAPINTO XL - Washbasin faucet

EAN: 4015474263772
statichansa.com/45012203

Spare parts
SP45012203
Name Code

1 Lever Chrome 59913586
11 Screw, M5x8, SW2.5 59904755
13 Symbol plug Grey 59912112

2 Covering cap, 33x3 mm Chrome 59912504
3 Tightening nut, M40x1 1003409V
31 0-ring, d 38x2 59913212

4 Cartridge, 3.5 Eco 59912324
4 Cartridge, 3.5 Classic 59913075
41 Temperature adjustment limiter 59912325
43 0-ring, d 2824x2.62 59912590
4 0-ring, d 10.10x1.60 59905072
5.1 Pop-up operating rod 59913587
52 Swivel joint 59904624
53 0-ring, d 36.09x d 3.53 59913396
55 Fixing plate 59904765
5.6 Screw, M8x1, SW13 59904766
5.7 Fixing set 59910749
58 Flexible pipe, L=430, G3/8-M10x1 RH 59913213

59 Flexible pipe, L=430, G3/8-M10x1 59912515

510 0-ring, d 7.65x1.78 59902337
511 Gasket, 9.5x14.4x2 59912551

5.12 Fixing screw, M8x1, L=140 59912474
513 Base plate 59913211

6 Aerator, M24x1 STD HC A Chrome 59902366
6.1 Aerator, M22/24 A 59902081
7 Pop-up waste Chrome 59904620
N Key, SW30/34 59912108

1


https://static.hansa.com/45012203

